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Mathematics Department
Math 332
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Third Exam 1*. Semester 2018/2019
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[1](18 points)
(a) (8 points) Use separation of variables to derive the solution of
Upe = MUy 0<x<m, t=20
u(0,t) =0
u(mt)=20
u(x, 0) = f(x)
u(x,0) =0
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(b) (8 puints) Derive the solution of the following problem using Fourier transform

Upe = Bl 0<x<m, t=20 o) .

u(0,t) =0 4 g ¥
u(m,t) =0 C)ﬁgm)ﬁw PU’,“%;W S Ua\n(aﬁ"fge‘) @ @i»;-i\
u(x, 0} =0 = e

1 (x,0) = g (%)
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Upp = dUyy O0<x<m, t=0 g,..;,?cﬂ.w
u(0,t) =0
u(m,t) =0 )
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[2] (18 points)

(a) (10 points) For the wave equation in problem (1) if

_{x . Ix] =1 _ {3 0<x<2
r@={y = L = 0%
Find u(x, 2) and graph it.
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[2] (18 points)

(a) (10 points) For the wave equation in problem (1) if

fx , Ixl=1 (3 0<xx<2
f(x)_[o , 0w > g(x)—{o o.w

Find u(x, 2) and graph it.
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b)(8 points) Find the general solution of the given PDE using the change of variables
H=x-—ct, y=t,

ur(x, ) + cu, (x, £) =0,

u(x,0) = f(x)
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